
qm=; cfof]hgfsf] gfd ljlgof]lht /sd
1 Ps #/ Ps sDkf]i^ dn vf*n 11000000
2 c+u'/ / :ofp cg'bfg 5000000
3 ;x/L ljsf; u'? of]hgf tyf gLlt lgdf{)f 2000000
4 lj:t[t cfof]hgf k|ltj]bg -l*=lk=cf/_ 1000000
5 gu/ l:yt lqk'/fsf]^ au/ jhf/ ;*s u|fj]n tyf :t/f]GgtL 2000000
6 gu/ :tl/o /+uzfnf lgdf{)f qmdfut -ax'jlif{o_ 4000000
7 lzIff If]q ljsf; 8462870
8 s[lif 810000
9 kz' 2760000
10 dlxnf afnaflnsf 2000000
11 k|fljlws cf}hf/ vl/b 1000000
12 ;"rgf k|ljlw 900000
13 tNnf] # \̂sf] #^]vf]nf :ofnt*L x'b} ;'kfgL ;Dd vfg]kfgL 1500000
14 :jf:Yo 5173000
15 gu/ :tl/o sf]N* :^f]/ qmdfut 1500000
16 e}k/L 3800066
17 j*f :t/df %gf]^ ePsf ljljw of]hgf 33000000
18 nlIft ju{ 1500000
19 hf]*sf]if -Doflr+u km)*_ 12500000
20 d's' ]̂Zj/ lty{:yn hnwf/f lgdf{)f 1500000
20 5 jif{ d'lgsf art vftf ;+rfng 236000

hDdf 101641936

lqk'/f;'Gb/L gu/kflnsf
ljlgof]lht of]hgf tyf sfo{qmd cf=j 076.077


